Algebra Systems of linear equations A Ruzikowska

Systems of linear equations

4.1 Solve systems of linear equations:

T1+ 2o +2x3=3 1 — X9+ 33 =0 T1+ 2o+ a3+ =1

a) =221 + 229 + 323 =3 b) 201 + 190+ 23=20 C) 201 — 310 — 2203+ bry =1
—$1+3$2+4$3=6 5$1+2$2—5$3=0 —$1—6$2—5$3+2$4=1
T1—To+ T3 — Ty =2 T1— Tog+3T3 — Ty = —2

d) 3r1 — X9 — Tx3+ 224 =0 201+ 30+ 23 +24 =0 f){x1+z2+x3+a:4:1

61 +2x9 — 23— 24 =3 e) 4r1 4 3x3 — 224 = —1 201 + x5 — 13— x4 =1
201 — 200 4+ 203 — 204 = 4 3x1 + 220+ D23+ 224 =3

-
21+ 235 + 324 = 0 Ty

1+ 20y +dvg 50, =0 xl:xﬁzi”_“f%f} . xl:x?’f(il
&) 201 + 423+ 624 =0 ) T — X+ a3t as — 5= i) @9 —x3=
! 3 4 $1—?[72+$3+3(E4—31'5:1 551—1'2:1

3x1 + 2x9 +8x3+ 11y, =0 T — Ty — 23 =0

4.2
l'1+$2+l'3+$4+1‘5:15

r1 + 2x9 + 323 + 414 + 525 = 35

a) 1 + 329 + 623 + 1024 + 1525 = 70
T+ 4562 + 10.%‘3 + 20%4 + 35335 =126
T+ 5552 + 15%3 + 35%4 + 70$5 =210

$1—$3+$5:0
To — Ty + 26 =0
b) £B1—£C2+$5—IL‘6:0
$2—$3+$6=0
$1—$4+$5=0

$1+2$2+3$3—2$4+$5=4

C) 3x1+6x2+5x3—4x4+3x5=5
T+ 209 + Txg — 4xs + 25 =

201 + 4xy + 223 — 314+ 325 =6




